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PROFESSIONAL EXAMINATION BOARD
Middle School Teacher Eligibility Test - 2018

06th Mar 2019 02:30PM

Topic:- Child Development & Pedagogy (CDP)

Comorbid means:  / कोमॉिब�ड (सह��ता) का अथ� है:

1. It describes a disorder or condition that may co-occur with another disorder or condition. / यह एक �वकार
या ��थित का वण�न करता है जो �कसी अ�य �वकार या ��थित के साथ हो सकता है।

2. A condition can appear independently and have a detrimental effect on performance. / कोई ��थित �वतं�
�प से �कट हो सकती है और �दश�न पर हािनकारक �भाव डाल सकती है।

3. A cognitive impairment can shorten lifespan. / सं�ाना�मक हािन जीवनकाल को छोटा कर सकती है।

4. None of these. / इनम� से कोई नह�ं।

Correct Answer :-

It describes a disorder or condition that may co-occur with another disorder or condition. / यह एक �वकार
या ��थित का वण�न करता है जो �कसी अ�य �वकार या ��थित के साथ हो सकता है।

What is the second leading cause of death in adolescence?  / िकशोराव�था म� मृ�ु का दूसरा �मुख कारण
�ा है?

1. Road traffic accidents / सड़क यातायात दघु�टनाय�

2. Suicide / आ�मह�या

3. Psychosis / मनो�वकृित

4. Drug overdose / �ग ओवरडोज

Correct Answer :-

Suicide / आ�मह�या

UDL stands for _____.  / यूडीएल का िव� तृत �प_____ है।

1. Universal Developed Learning   / यूिनवस�ल डेवले� ड लिन�ग

2. Universal Dynamic Learning / यिूनवस�ल डायनािमक लिन�ग

3. Universal Design for Learning / यिूनवस�ल �डजाइन फॉर लिन�ग
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4. Universal Disadvantages of Learning / यिूनवस�ल �ड� एडवांटेज ऑफ लिन�ग

Correct Answer :-

Universal Design for Learning / यिूनवस�ल �डजाइन फॉर लिन�ग

The meaning of gestalt is _____. /  गे�ा� का अथ� ______ होता है।

1. Excitement / उ�साह

2. An integrated whole / संपणू� एक�करण

3. Perception / धारणा

4. Insight / अतं����

Correct Answer :-

Insight / अतं����

According to Piaget’s theory of cognitive development, complex thoughts form during the _____.
 / िपयाजे के सं�ाना�क िवकासवाद िस�ांत के अनुसार, जिटल िवचार   _____ के दौरान आते है।

1. Pre-opera�onal stage / पवू�-सं��या� मक अव� था

2. Concrete Opera�onal stage / मतू� सं��या� मक अव� था

3. Formal Opera�ons stage / औपचा�रक सं��या अव� था

4. Sensory Motor stage / संवेद� मोटर चरण

Correct Answer :-

Formal Opera�ons stage / औपचा�रक सं��या अव� था

According to Kohlberg’s theory, at what level does the child adopt rules? / को�लबग� के �स�धांत के
अनसुार, ब�चा �कस �तर पर �नयम� को �वीकारता है?

1. Universal ethical principle orientation / साव�भौिमक निैतक िस�ांत उ�मखुीकरण

2. Post-conventional level /  प�-पार�प�रक �तर

3. Pre-conventional level / पवू�-पार�प�रक �तर

4. Conventional level / पार�प�रक �तर

Correct Answer :-

Conventional level / पार�प�रक �तर
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According to Urie Bronfenbrenner ________ system is the small immediate environment the child
lives in. / यरू� ��फेन�ेनर के अनसुार, ________ �णाल� वह छोटा आस� न वातावरण है िजसम� ब� चा रहता है।

1. Macrosystem / म�ैोिस� टम

2. Exosystem / ए� सोिस� टम

3. Microsystem / माइ�ोिस� टम

4. Mesosystem / िमसोिस� टम

Correct Answer :-

Microsystem / माइ�ोिस� टम

What is used to determine eating disorders? / खाने के �वकार� को �नधा��रत करने के �लए �या �योग
�कया जाता है?

1. Weight index / भार सचूकांक

2. Weight mass index / भार ��यमान सचूकांक

3. Body mass index / शर�र ��यमान सचूकांक

4. Body height index / शर�र ऊँचाई सचूकांक

Correct Answer :-

Body mass index / शर�र ��यमान सचूकांक

What term best describes a child’s difficulty in learning a new way to do a task he has already learnt?
/ वह पद जो एक ब�चे को एक नया तर�का सीखने म� आने वाल� क�ठनाई का सबसे अ�छा वण�न करता है,
जो उसने पहले से ह� सीखा हुआ है?

1. Proactive interference / स��य ह�त�ेप

2. Retroactive interference / पवू��यापी ह�त�ेप

3. Cue-related interference / संकेत-संबंिधत ह�त�ेप

4. Semantic interference / श�दाथ� ह�त�ेप

Correct Answer :-

Proactive interference / स��य ह�त�ेप

What task did Piaget give children to understand their hypothetical-deductive reasoning? / �पयाजे
ने ब�च� को उनके का�प�नक- �नगमना� मक तक�  को समझने के �लए �या काय� �दया?
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1. Pendulum experiment / प�डुलम का �योग

2. Bobo doll experiment / बोबो गु�ड़या का �योग

3. Visual cliff experiment / ��य च�टान �योग

4. Shadow experiment / छाया �योग

Correct Answer :-

Pendulum experiment / प�डुलम का �योग

What does the theory of learning by Insight mean? / अतं��ि�ट (इनसाइट) के मा�यम से अ�धगम के
�स�धांत का अथ� �या है?

1. Learning which requires higher order mental processes like thinking, reasoning and intelligence. / अिधगम
के िलए �वचार, तक�  और ब�ु�म�ा जसैी उ�च �िमक मानिसक ���याओ ंक� आव�यकता होती है।

2. Learning by trial and error where problem solving is characterized by repeated, varied attempts which are
continued until success. / �यास और ��ुट �ारा अिधगम करना जहां सम�या को �विभ�न �यास �ारा बार-
बार हल करना एक �वशेषता है, जो�क सफलता तक जार� रहती ह�।

3. Learning that occurs by observing the demonstrations given by an expert and imitating his movements. /
अिधगम जो एक �वशेष� �ारा �दए गए सबतू� को देखने और उनके संचार कौशल क� नकल करने से होता
है।

4. A type of learning or problem solving that happens all-of-a-sudden through perceiving the relationships of
various parts of a problem and understanding the situation. / एक �कार के अिधगम या सम�या को हल
करना जो �कसी सम�या के �विभ�न �ह�स� के संबंध� को समझने और उस ��थित को समझने के मा�यम
से अचानक होता है।

Correct Answer :-

A type of learning or problem solving that happens all-of-a-sudden through perceiving the relationships of
various parts of a problem and understanding the situation. / एक �कार के अिधगम या सम�या को हल
करना जो �कसी सम�या के �विभ�न �ह�स� के संबंध� को समझने और उस ��थित को समझने के मा�यम
से अचानक होता है।

Name the disorder that causes lack of attention. / उस �वकार का नाम बताएं जो �यान क� कमी का
कारण बनता है?

1. Dyslexia / वाक�वकार (�ड� ले��सया)

2. Dyscalculia / �ड�कै�कुिलया

3. Dysgraphia / �डस�ा�फया

4. ADD/ADHD / एड�ड� /एड�एचड�

Correct Answer :-
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ADD/ADHD / एड�ड� /एड�एचड�

Which model, proposed by Albert Bandura, explains human functioning and personality as caused
by the interaction of the behavioral, cognitive and environmental factors / अ�बट� बंडुरा �वारा ��ता�वत
कौन सा मॉडल �यवहार, सं�ाना�मक और पया�वरणीय कारक� के पर�पर ��या के आधार पर मानव काय� और
�यि�त�व क� �या�या करता है?

1. Self-efficacy / आ�म-�भावका�रता

2. Reciprocal determinism / पार�प�रक िनयितवाद

3. Trait theory / �य���व िस�ांत

4. Sublimation / ऊ�वपातक

Correct Answer :-

Reciprocal determinism / पार�प�रक िनयितवाद

Which of the following promotes the recurrence of a behavior? / �न�न�ल�खत म� से कौन सा एक
�यवहार क� पनुराव�ृ� को बढ़ावा देता है?

1. Reinforcement / पनुब�लन

2. Latency / सषु�ुा

3. Chunking / चं�कंग

4. Punishment / दंड

Correct Answer :-

Reinforcement / पनुब�लन

Which of the following theories focuses on processes involved in perceiving and handling
information? / �न�न�ल�खत म� से कौन सा �स�धांत सचूना को संभालने और उससे अनभुव �ा�त करने म�
शा�मल ���याओ ंपर क� ��त है?

1. Information-processing approach / सचूना-���याकरण उपागम

2. Social-contextual approach / सामा�जक-�ासंिगक उपागम

3. Socio-cognitive approach / सामा�जक सं�ाना�मक उपागम

4. Psycho-sexual approach / मनोल�िगक उपागम

Correct Answer :-

Information-processing approach / सचूना-���याकरण उपागम
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Which of the following is one of the components of ideal mental health according to Jahoda? /
�न�न�ल�खत म� से कौन जाहोदा के अनसुार आदश� मान�सक �वा��य के घटक� म� से एक है?

1. Dependence / िनभ�रता

2. Separation from society / समाज से अलग होना

3. Freedom / � वतं�ता

4. Positive attitude towards oneself / �वयं के �ित सकारा�मक ���कोण

Correct Answer :-

Positive attitude towards oneself / �वयं के �ित सकारा�मक ���कोण

Which of the following statements best describes the Zone of Proximal Development? / �न�न�ल�खत
म� से कौन सा कथन समीप�थ �वकास के �े� का सबसे अ�छा वण�न करता है?

1. The difference between what a learner can do without help and what she or he can achieve with guidance.  /
एक िश�ाथ�िबना सहायता के �ा कर सकता/सकती है और माग�दश�न के साथ-साथ वह �ा हािसल कर सकता/सकती
है,  इसके बीच का अंतर।

2. Academic, Knowledge based tests gauge the intelligence. / अकादिमक, �ान आधा�रत पर��ण� से ब�ु�म�ा
का पता चलता है।

3. The child develops the required skills on his/her own. / ब�चा अपने दम पर आव�यक कौशल �वकिसत
करता है।

4. Discover everything on own. / सब कुछ �वयं ह� खोज लेना।

Correct Answer :-

The difference between what a learner can do without help and what she or he can achieve with guidance. 
/ एक िश�ाथ�िबना सहायता के �ा कर सकता/सकती है और माग�दश�न के साथ-साथ वह �ा हािसल कर सकता/सकती
है,  इसके बीच का अंतर।

Which of the Thorndike’s laws emphasize preparedness? / थान�डाइक का कौन-सा �नयम तयैा�रय� पर
जोर देता है?

1. Law of Exercise / अ� यास का िनयम

2. Law of Effect / �भाव का िनयम

3. Law of Multiple Response / बहु �ित��या का िनयम

4. Law of Readiness / त� परता का िनयम

Correct Answer :-
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Law of Readiness / त� परता का िनयम

In scientific investigative learning method, ______. / व�ैा�नक अनसुंधाना�मक अ�धगम प�ध�त म�,
_____.

1. children discover the scientific idea completely. /  ब�ो ंको वै�ािनक िवचार पूरी तरह से पता चलते ह�।

2. children work without guidance. / ब�चे माग�दश�न के �बना काम करते ह�।

3. teacher guides the children completely. / िश�क ब�च� का परूा माग�दश�न करता है।

4. teacher gives inputs when needed. / िश�क ज�रत पड़ने पर इनपटु देता है।

Correct Answer :-

teacher gives inputs when needed. / िश�क ज�रत पड़ने पर इनपटु देता है।

A child is watched carefully by his teachers because his friends are known to cause trouble, even
though the child has never done anything wrong. Which of the following is descriptive of this? / एक ब�चे
को उसके �श�क� �वारा �यान से देखा जाता है �य��क उसके दो�त� को परेशानी का कारण जाना जाता है,
भले ह� ब�चे ने कभी कुछ गलत नह�ं �कया हो। �न�न�ल�खत म� से कौन सा इसका वण�ना�मक है?

1. Algorithm / ए�गो�रथम

2. Transductive reasoning / पारगमन तक�

3. Representativeness heuristic / अ�यावेदन हेय�ुर��टक (�वानभु�वक�)

4. Anchoring heuristic / सम� वयन हेय�ुर��टक (�वानभु�वक�)

Correct Answer :-

Representativeness heuristic / अ�यावेदन हेय�ुर��टक (�वानभु�वक�)

Who are backward children? / �पछड़/े वं�चत ब�चे कौन ह�?

1. Slow learners / मंद अिधगमकता�

2. Delinquent learners / �वल�ण अिधगमकता�

3. Handicapped learners / �द�यांग अिधगमकता�

4. Exceptional learners / असाधारण अिधगमकता�

Correct Answer :-

Slow learners / मंद अिधगमकता�
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The last stage of creative thinking is : / रचना�मक �चतंन का अ�ंतम चरण है:

1. Incubation / ऊ�मायन

2. Verification / स� यापन

3. Preparation / तयैार�

4. Evaluation / म�ू यांकन

Correct Answer :-

Verification / स� यापन

The Dalton Plan was created by: / डा�टन योजना �वारा बनाई गई थी:

1. John Dewey / जॉन डूई

2. Francis Galton / �ांिसस गै�टन

3. Francis Dalton / �ांिसस डा�टन

4. Helen Parkhurst / हेलेन पाक� ह�ट�

Correct Answer :-

Helen Parkhurst / हेलेन पाक� ह�ट�

A student should be allowed to learn in the mother tongue as it makes ______ easy. / एक छा� को
मातभृाषा म� सीखने क� अनमु�त द� जानी चा�हए �य��क यह ______ को आसान बनाता है।

1. Comprehension / बोध

2. Perception / संवेदन

3. Creation / रचना या स�ृ�

4. Reproduction / �जनन

Correct Answer :-

Comprehension / बोध

More Knowledgeable Others and Zone of Proximal Development are the main principles of
___________ theories on cognitive development. / अ�धक जानकार� और समीप�थ �वकास के �े�
सं�ाना�मक �वकास पर ___________ �स�धांत� के म�ुय �स�धांत ह�।

1. Kolb’s / को�ब

2. Piaget’s / �पयाजे
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3. Dewey’s / डेवे

4. Vygotsky’s / वाइगो��क�

Correct Answer :-

Vygotsky’s / वाइगो��क�

A large number of schools do not have a provision for ______ teacher in the school. / अ�धकांश �कूल�
म� ______ �श�क का �ावधान नह� ंहै।

1. Extra / अित�र�

2. Special / �विश�

3. Co- class / सह-िश�ा

4. Assistant / सहायक

Correct Answer :-

Special / �विश�

___________ are the basic needs according to Malow’s Hierarchy of needs. / 
__________ मा�ो के �ेरणा के पदानु�म की आव�कता के अनुसार बुिनयादी ज�रत� ह�।

1. Safety and Esteem / सरु�ा और अनमुान

2. Physiological and self-actualization / शार��रक और आ�म-बोध

3. Belongingness and love needs / �व�ास और �यार क� आव�यकता

4. Physiological and safety needs / शारी�रक और सुर�ा की आव�कता

Correct Answer :-

Physiological and safety needs / शारी�रक और सुर�ा की आव�कता

Which of the following can a teacher not exercise to overcome misconceptions? / एक 
िश�क गलत अवधारणाओ ंको दूर करने के िलये इनम� से िकसका �वहार नही ंकर सकता?

1. Immediate feedback assessment approach / त�काल �ित��या म�ूयांकन ���कोण

2. Self-directed learning / आ�म िनद�शन म� सीखना

3. Quiz style assessment both before and after a unit / एक इकाई से पहले और बाद म� ��ो�र� शलैी का
म�ूयांकन

4. Flipped classroom approach / ��लप क�ा ���कोण
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Correct Answer :-

Self-directed learning / आ�म िनद�शन म� सीखना

Which of the following theories is also known as modelling learning theory? / िन�िल�खत म�
से िकस िस�ांत को �ित�पण(मॉडिलंग) अिधगम िस�ांत  के  �प म� भी जाना जाता है?

1. Developmental theory /  िवकासा�क (डेवलपम�टल) अिधगम िस�ांत

2. Social learning theory / सामा�जक अिधगम िस�ांत

3. Transforma�ve learning theory / �ांसफॉरमे�टव अिधगम िस�ांत

4. Insight learning theory / अतं���� (इनसाइट) अिधगम िस�ांत

Correct Answer :-

Social learning theory / सामा�जक अिधगम िस�ांत

Thinking most importantly involves:  / िच�न म� सबसे मह�पूण� तौर से �ा स��िलत होता है ?

1. Aptitude / अिभयो�यता

2. Memory / �मिृत

3. Reasoning / तक�

4. Attitude / अिभव�ृ�

Correct Answer :-

Reasoning / तक�

Topic:- General English(L1GE)

Read the passage carefully and answer the question that follows:

 

Once coming back from his field after a hard day’s work Ram Chandra of Narayanpur witnessed a
very unusual sight in the open field near the horizon. He was suddenly dumbstruck as he thought
that he saw an exceptionally bright light coming from the western sky as if suddenly a constellation
of stars had descended on earth, or millions of bulbs were shinning in the sky. As he went nearer he
was quite scared for he felt that there appeared to be a great ship standing in the middle of a field
which seemed to give out super sonic signals. Ram Chandra looked at the ship for a while but was
extremely frightened by that strange unidentified object. He got back on his cycle and rode fast
towards his home from a different direction almost falling off the bike. When he reached home he
was totally tongue tied to even narrate that incident to his wife. He lay on bed thinking about the
object that he had seen wondering whether he had only dreamt about the whole affair.   
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Ram Chandra of Narayanpur witnessed a very unusual sight near which place?

1. Home

2. Fields

3. Constellation

4. Horizon

Correct Answer :-

Horizon

Read the passage carefully and answer the question that follows:

 

Once coming back from his field after a hard day’s work Ram Chandra of Narayanpur witnessed a
very unusual sight in the open field near the horizon. He was suddenly dumbstruck as he thought
that he saw an exceptionally bright light coming from the western sky as if suddenly a constellation
of stars had descended on earth, or millions of bulbs were shinning in the sky. As he went nearer he
was quite scared for he felt that there appeared to be a great ship standing in the middle of a field
which seemed to give out super sonic signals. Ram Chandra looked at the ship for a while but was
extremely frightened by that strange unidentified object. He got back on his cycle and rode fast
towards his home from a different direction almost falling off the bike. When he reached home he
was totally tongue tied to even narrate that incident to his wife. He lay on bed thinking about the
object that he had seen wondering whether he had only dreamt about the whole affair.   

 

What did Ram Chandra think while lying on his bed?

1. Whether he had dreamt about the whole affair

2. Whether he saw the ship or not

3. Whether he should tell his wife about it or not

4. Whether he should tell others about it or not

Correct Answer :-

Whether he had dreamt about the whole affair

Read the passage carefully and answer the question that follows:

 

Once coming back from his field after a hard day’s work Ram Chandra of Narayanpur witnessed a
very unusual sight in the open field near the horizon. He was suddenly dumbstruck as he thought
that he saw an exceptionally bright light coming from the western sky as if suddenly a constellation



4)  

of stars had descended on earth, or millions of bulbs were shinning in the sky. As he went nearer he
was quite scared for he felt that there appeared to be a great ship standing in the middle of a field
which seemed to give out super sonic signals. Ram Chandra looked at the ship for a while but was
extremely frightened by that strange unidentified object. He got back on his cycle and rode fast
towards his home from a different direction almost falling off the bike. When he reached home he
was totally tongue tied to even narrate that incident to his wife. He lay on bed thinking about the
object that he had seen wondering whether he had only dreamt about the whole affair.   

 

The meaning of the word Horizon is:

1. Towards home

2. Towards Fields

3. Where the Sky meets the earth

4. Where the Sun meets the earth

Correct Answer :-

Where the Sky meets the earth

Read the passage carefully and answer the question that follows:

 

 Once coming back from his field after a hard day’s work Ram Chandra of Narayanpur witnessed a
very unusual sight in the open field near the horizon. He was suddenly dumbstruck as he thought
that he saw an exceptionally bright light coming from the western sky as if suddenly a constellation
of stars had descended on earth, or millions of bulbs were shinning in the sky. As he went nearer he
was quite scared for he felt that there appeared to be a great ship standing in the middle of a field
which seemed to give out super sonic signals. Ram Chandra looked at the ship for a while but was
extremely frightened by that strange unidentified object. He got back on his cycle and rode fast
towards his home from a different direction almost falling off the bike. When he reached home he
was totally tongue tied to even narrate that incident to his wife. He lay on bed thinking about the
object that he had seen wondering whether he had only dreamt about the whole affair.

           

What did Ram Chandra see when he went near the bright lights?

1. Fields

2. A constellation

3. Ship

4. Horizon

Correct Answer :-

Ship



5)  

6)  

7)  

8)  

Choose the sentence that best combines the given sentences.

 

Elizabeth is an athletic woman. Elizabeth cannot swim or ride a bike.

1. Although Elizabeth is an athletic woman, she cannot swim or ride a bike.

2. Elizabeth cannot swim or ride a bike, while she is an athletic woman.

3. Elizabeth cannot swim or ride a bike and is an athletic woman.

4. Being an athletic woman, Elizabeth cannot swim or ride a bike.

Correct Answer :-

Although Elizabeth is an athletic woman, she cannot swim or ride a bike.

Choose appropriate articles for the given sentence:

 

_____ boy kicked  ____ ball out of _____ football field.

1. No article required, a, a

2. A, the, an

3. A, the, no article required

4. The, the, the

Correct Answer :-

The, the, the

Choose the appropriate option that rewrites the given sentence in its active voice.

At 2pm the final bell to end the examination was rung.

1. To end the examination the final bell was ringing at 2pm.

2. At 2 pm, the examination bell was rang to end it.

3. The examination final bell had been rung at 2pm.

4. The final bell to end the examination rang at 2pm.

Correct Answer :-

The final bell to end the examination rang at 2pm.



9)  

10)  

Choose the appropriate option to convert the given sentence from direct speech to indirect speech.

 

The Principal said, “These books have to be piled up in an order in the library.”

1. The Principal instructed that those books had to be piled up in order in the library.

2. The Principal said the books have to be piled up in an order in the library.

3. The Principal said that these books have to be piled up in an order in the library.

4. The Principal told the books have to be piled up in an order in the library.

Correct Answer :-

The Principal instructed that those books had to be piled up in order in the library.

Choose the appropriate tenses to fill in the blanks in the given sentence :

 

_____ you _____ that Amith _____________ to join in  the famous University in the United States?

1. Were, knowing, had going

2. Are, know, was going

3. Did, know, is going

4. Had, known, had gone

Correct Answer :-

Did, know, is going

Choose the appropriate tense to fill in the blank in the given sentence:

I _______________ the movie Lagaan when he called last night.

1. will be watching

2. was watching

3. watch

4. am watching

Correct Answer :-

was watching



11)  

12)  

13)  

Choose the appropriate antonym for the highlighted word in the given sentence.

 

The little boy used to eat continuously and had become so corpulent that new clothes had to be
purchased for him every month.

1. Stout

2. Miniscule

3. Rotund

4. Scrawny

Correct Answer :-

Scrawny

Choose the appropriate conjunction for the given sentence.

 

We were planning to go to Italy _______, we ended up going to Switzerland.

1. instead

2. because

3. otherwise

4. since

Correct Answer :-

instead

Choose the appropriate synonym for the highlighted word in the given sentence.

Prof. Kumar has a distinct English accent.

1. Indiscreet

2. Vague

3. Subtle

4. Noticeable

Correct Answer :-

Noticeable



14)  

15)  

16)  

Choose the appropriate preposi�ons for the given sentence:

 

The little girl ran ______ the busy road, to prevent a puppy _____ being crushed ____ a car.

1. from, into, for

2. across, for, into

3. across, from, under

4. through, for, into

Correct Answer :-

across, from, under

Choose an appropriate modal for the given sentence:

 

If you experience any breathing problem, you ______ visit a doctor.

1. would

2. must

3. will

4. can

Correct Answer :-

must

Choose an appropriate determiner for the given sentence.

 

_________ knowledge is a dangerous thing.

1. A li�le

2. Few

3. Much

4. Many

Correct Answer :-

A li�le



17)  

18)  

19)  

Choose the option that best explains the highlighted expression:

 

The servants were hand in glove with the murderers when the crime took place.

1. to use a glove in

2. to act in accordance with

3. to be involved in

4. to be controlled by

Correct Answer :-

to be involved in

Choose the most suitable pronouns for the given sentence:

 

____ cheeks are red, and _____ swea�ng. Are ___ nervous?

1. Their … you … they

2. My … I’m … you

3. Hers … she’s … they

4. Your … you’re … you

Correct Answer :-

Your … you’re … you

Read the sentence carefully and choose the option that has an error in it:

 

Although she was sick, but she attended the classes.

1. Although she was sick,

2. but she a�ended

3. No error

4. the classes.

Correct Answer :-

but she a�ended



20)  

21)  

Read the passage carefully and answer the question that follows:

 

Unemployment, poverty and inequality are related phenomena. Any success in solving one of these problems would
imply some success in solving the other. "Poverty and unemployment are two sides of the same coin when we are going
to solve one problem in the society, second will be taken care with that. The poverty and unemployment at present
scenario are most severe problems of Indian economy’. The term unemployment has assumed a place of importance in
economic literature ever since the Great Depression of 1930's when the unemployment had virtually posed serious
threat to the highly developed countries.

 

According to the passage, where was unemployment a major problem during the Great Depression?

1. Developing countries

2. Underdeveloped countries

3. Highly developed countries

4.  Over populated countries

Correct Answer :-

Highly developed countries

Read the passage carefully and answer the question that follows:

 

Unemployment, poverty and inequality are related phenomena. Any success in solving one of these problems would
imply some success in solving the other. "Poverty and unemployment are two sides of the same coin when we are going
to solve one problem in the society, second will be taken care with that. The poverty and unemployment at present
scenario are most severe problems of Indian economy’. The term unemployment has assumed a place of importance in
economic literature ever since the Great Depression of 1930's when the unemployment had virtually posed serious
threat to the highly developed countries.

 

Which are the prime concerns faced by Indian economy?

1. Inequality and discrimination

2. Inflation and unemployment

3. Corruption and demonetisation

4. Unemployment and poverty

Correct Answer :-

Unemployment and poverty



22)  

23)  

Read the passage carefully and answer the question that follows:

 

Unemployment, poverty and inequality are related phenomena. Any success in solving one of these problems would
imply some success in solving the other. "Poverty and unemployment are two sides of the same coin when we are going
to solve one problem in the society, second will be taken care with that. The poverty and unemployment at present
scenario are most severe problems of Indian economy’. The term unemployment has assumed a place of importance in
economic literature ever since the Great Depression of 1930's when the unemployment had virtually posed serious
threat to the highly developed countries.

 

What does the usage ‘two sides of the same coin’ imply?

1. The problems are deceptive

2. The problems are insignificant

3. The problems are allied

4. The problems are distinct

Correct Answer :-

The problems are allied

Read the passage carefully and answer the question that follows:

 

Unemployment, poverty and inequality are related phenomena. Any success in solving one of these problems would
imply some success in solving the other. "Poverty and unemployment are two sides of the same coin when we are going
to solve one problem in the society, second will be taken care with that. The poverty and unemployment at present
scenario are most severe problems of Indian economy”. The term unemployment has assumed a place of importance in
economic literature ever since the Great Depression of 1930's when the unemployment had virtually posed serious
threat to the highly developed countries.

 

According to the passage, which of the following options is true?

1. Solving problems of unemployment will solve the problems of poverty and inequality

2. Solving the problems of unemployment, poverty, and inequality is an impossible task

3. The problems of unemployment, poverty, and inequality are irreconcilable issues

4. The problems of unemployment, poverty, and inequality are disparate ones

Correct Answer :-

Solving problems of unemployment will solve the problems of poverty and inequality



24)  

25)  

26)  

27)  

Choose the right tag:

 

After all this time you’d think he’d had forgotten,                             ?

1. don’t you

2. wouldn’t you

3. do you

4. would you

Correct Answer :-

wouldn’t you

Choose the correct option to fill in the blank in the given sentence:

 

While travelling on an airplane, you may keep you hand baggage in the --head cabin.

1. over--

2. up--

3. sub--

4. under--

Correct Answer :-

over--

Fill in the blank with the correct option in the given sentence:

He tried very hard to win the race but things got beyond his endur_______.

1. ---sion

2. ---a�on

3. ---ence

4. ---ance

Correct Answer :-

---ance

Fill in the blank with the correct option in the given sentence:



28)  

29)  

30)  

 

My little sister  ______ the ticket before we went to the cinema.

1.  has been given

2.  is given

3.  will be given

4.  had been given

Correct Answer :-

 had been given

Choose the option that substitutes the given phrase appropriately.

 

The place where farmers store their surplus grain

1. Granary

2. Room

3. Barn

4. Enclosure

Correct Answer :-

Granary

Choose the right tag:
  

There is a crowd at the gate, ______?

1. is it

2. isn't there

3. is there

4. does it

Correct Answer :-

isn't there

 Choose an appropriate article for the given sentence:

 



1)  

2)  

Nile is____ longest river of all.

1. an

2. no article

3. a

4.  the

Correct Answer :-

 the

Topic:- General Urdu(L2GU)

1. 

2. 

3. 

4. 

Correct Answer :-

1. 
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4)  
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30)  

1)  

2)  

Correct Answer :-

1. 

2. 

3. 

4. 

Correct Answer :-

Topic:- Social Science (SSC)

What is the SDG (Sustainable Development Goal) rank of India in 2018? /  2018 म� भारत की
एसडीजी (सतत िवकास ल�) र�क �ा रही है?

1. 130

2. 124

3. 112

4. 148

Correct Answer :-

112

Which of the following country is in the third stage of Demographic transition model?  / िन�िल�खत
म� से कौन सा देश जनसां��की सं�मण मॉडल के तीसरे चरण म� है?

1. Kenya / के�या 



3)  

4)  

2. Bangladesh / बां�लादेश

3. Peru / पे�

4. Canada / कनाडा

Correct Answer :-

Canada / कनाडा

Which among the following is the driest desert on Earth? / िन�िल�खत म� से कौन सा पृ�ी पर सबसे शु�
रेिग�ान है?

1. Kalahari / कालाहार�

2. Tabernas Desert / तबेरनास रेिग�तान

3. Atacama / अटाकामा

4. Gobi / गोबी

Correct Answer :-

Atacama / अटाकामा

1. 1-A, 2-B, 3-C, 4-D

2. 1-D, 2-A, 3-B, 4-C

3. 1-D, 2-B, 3-A, 4-C



5)  

6)  

7)  

4. 1-D, 2-C, 3-B, 4-A

Correct Answer :-

1-D, 2-A, 3-B, 4-C

FIIs stands for _______. /  एफआईआई का पूण� �प______ है।

1. Foreign Institutional Investors / फॉरेन इं�ट�टूशनल इ�वे�टस�

2. Foreign Income Investments / फॉरेन इनकम इ�वे�टम�ट

3. Foreign Investors Income / फॉरेन इ�वे�टस� इनकम

4. Foreign Investment Index / फॉरेन इ�वे�टम�ट इंडे�स

Correct Answer :-

Foreign Institutional Investors / फॉरेन इं�ट�टूशनल इ�वे�टस�

The most appropriate criterion that determines the selection of a teaching method is:  / सबसे
उपयु� मानदंड जो एक िश�ण प�ित के चयन को िनधा��रत करता है:

1. The nature of the subject matter / �वषय-व�त ुक� �कृित

2. The classroom environment / क�ा का वातावरण

3. The availability of resources / संसाधन� क� उपल�धता

4. The incompetence of the teacher  / िश�क की अ�मता

Correct Answer :-

The nature of the subject matter / �वषय-व�त ुक� �कृित

The vesara style in the building of structural temples was developed by: / संरचना�मक
मं�दर� के �नमा�ण म� वेसर शलै� �न�न �वारा �वक�सत क� गई थी:

1. Pallavas / प� लव

2. Chalukyas / चाल�ु य

3. Guptas /  गु�

4. Mauryas /  मौय�

Correct Answer :-

Chalukyas / चाल�ु य



8)  

9)  

10)  

Development is a ________________ and nonstop process at all periods and stages of human
life. / �वकास मानव जीवन के सभी समय और चरण� म� एक __________ और नॉन�टॉप ���या है।

1. uniform / एकसमान

2. important / मह� वपणू�

3. general / सामा� य

4. continuous / सतत

Correct Answer :-

continuous / सतत

Students are split into small groups for a specific period of time and are made to discuss a
given issue or topic. This method is known as: / छा�� को कुछ �व�श�ट समय अव�ध के �लए छोटे
समहू� म� �वभािजत �कया जाता है और �दये गये म�ुदे या �वषय पर �वचार-�वमश� कराया जाता है।
यह प�ध�त_______कहलाती है।

1. Brainstorming / ब�ुयो�ेजक (�ेन� टॉिम�ग)

2. Buzz session / गुंजन स� (बज सेशन)

3. Symposium / प�रचचा�

4. Debate / वाद-�ववाद

Correct Answer :-

Buzz session / गुंजन स� (बज सेशन)

Panini was the author of / पा�ण�न �न� न के लेखक थे

1. Ashtadhyayi  / अ�ा�यायी

2. Mahabhasya / महाभा� य

3. Daskumara Charita / दशकुमार च�रत

4. Mrichhkatika / म�ृछक�टकम ्

Correct Answer :-

Ashtadhyayi  / अ�ा�यायी



11)  

12)  

13)  

14)  

In projective techniques of personality assessment, ______ behaviour is evaluated. /
�यि�त�व आकलन क� ��ेपी तकनीक� म� ______ �यवहार का म�ूयांकन �कया जाता है।

1. criminal / अपराधी

2. conscious / सचेत

3. overt / �कट

4. covert / अ�कट

Correct Answer :-

covert / अ�कट

When was Sikkim created as a full-fledged state of Union of India? / �सि�कम को भारतीय
संघ के पणू� रा�य का दजा� कब �दया गया था?

1. 1985

2. 1975

3. 1970

4. 1980

Correct Answer :-

1975

At which point of discussion, does social science differ from pure science? / चचा� के �कस
�बदं ुपर, सामािजक �व�ान �वश�ुध �व�ान से �भ�न होता है

1. Degree of complexity / ज�टलता क� मा�ा

2. Repetition and duplication / पनुराव�ृ� और ��राव�ृ�

3. Validity and reliability / वधैता और �व�सनीयता

4. Exactness of measures for prediction / पवू�कथन के िलए उपाय�/माप� क� प�रश�ुता

Correct Answer :-

Exactness of measures for prediction / पवू�कथन के िलए उपाय�/माप� क� प�रश�ुता

Aryabhatta and Varahamihira belonged to which age? / आय�भ�ट और वराह�म�हर �कस यगु 
से सबं�धत थे?



15)  

16)  

17)  

1. Kusana / कुषाण

2. Harsha / हष�

3. Gupta / गु� त

4. Maurya / मौया�

Correct Answer :-

Gupta / गु� त

Who among the tomar rulers established the fortified city of Lal Kot (Delhi) in 8th century?

/ 8वी ंशता�द� म� �कस तोमर शासक ने लाल कोट (�द�ल�) के �कलेबंद शहर क� �थापना क� थी?

1. Anangpal / अनंगपाल 

2. Lakhan Pal / लखन पाल

3. Tejpal / तेजपाल

4. Madan Pal / मदन पाल

Correct Answer :-

Anangpal / अनंगपाल 

Who was the powerful woman ruler of Kashmir from 958 to 1003 AD.? / 958 से 1003 ईसवीं
तक क�मीर क� शि�तशाल� म�हला शासक कौन थी?

1. Kauravaki / कौव�क� 

2. Prabhawati / �भावती

3. Didda / �द�ा 

4. Rudrama / ��मा

Correct Answer :-

Didda / �द�ा 

Who coined the term Action Research? / ए�शन �रसच� (��या�मक शोध) श�द क� रचना
�कसने क�?

1. Stephen M. Corey / �ट�फन एम. कोर�



18)  

19)  

20)  

2. Bruce Cooper / �सू कूपर

3. Talcott Parsons / टैलको�ट पास��स

4. Kets de Vries / के�स ड� र�ज़

Correct Answer :-

Stephen M. Corey / �ट�फन एम. कोर�

Who coined the word ecology (Ökologie)? / ‘पा�रि�थ�तक�’ (ओकोलॉजी) श�द का आ�व�कार �कसने
�कया?

1. Robert Whittaker / रॉबट� ��हटकर

2. Ernst Haeckel / ए��ट� हे�केल 

3. Charles Darwin / चा�स� डा�व�न

4. Arthur Tansley / आथ�र टे�सले

Correct Answer :-

Ernst Haeckel / ए��ट� हे�केल 

Who is the author of Ashtanga samgraha (Summary of the Eight Branches of Medicine) in
Gupta period? / गु�त काल म� अ�टांग सम�ह (�च�क�सा क� आठ शाखाओ ंका सारांश) के लेखक
कौन ह�?

1. Vagbhata / वा�भ�ट

2. Bhratahari / भतृ�ह�र

3. Charaka / चरक

4. Susruta / स�ुतु

Correct Answer :-

Vagbhata / वा�भ�ट

Who was given the title of ‘Lakh Baksha’ (donator of hundreds of thousands) in early
medieval times? / �ारि�भक म�यकाल म� 'लख ब�श' (सकैड़� हजार� का दाता) क� उपा�ध �कसे द�
गई थी?

1. Balban / बलबन 



21)  

22)  

23)  

2. Razia / र�जया

3. Qutub-uddin Aibak / कुतबु�ु�न ऐबक

4. Firoz Tughlaq / �फरोज तगुलक

Correct Answer :-

Qutub-uddin Aibak / कुतबु�ु�न ऐबक

Between whom was the Battle of Dharmat fought? / धम�त का य�ुध �कनके बीच हुआ था?

1. Aurangzeb and Dara Shikoh / औरंगजेब और दारा िशकोह

2. Babur and Ibrahim Lodhi / बाबर और इ�ा�हम लोधी

3. Akbar and Jahangir / अकबर और जहाँगीर

4. Akbar and Rajputs / अकबर और राजपतू�

Correct Answer :-

Aurangzeb and Dara Shikoh / औरंगजेब और दारा िशकोह

MOOCs stands for: / एम.ओ.ओ.सी का ता�पय� है:

1. Massive Open Online Courses / मिैसव ओपन ऑनलाइन कोस�ज़

2. Massive Open Orientation Courses / मिैसव ओपन ऑ�रएनटेशन कोस�ज़

3. Massive Online Open Courses / मिैसव ऑनलाइन ओपन कोस�ज़

4. Mobile Open Online Courses / मोबाइल ओपन ऑनलाइन कोस�ज़

Correct Answer :-

Massive Open Online Courses / मिैसव ओपन ऑनलाइन कोस�ज़

______amendment added a list of Fundamental Duties to the Constitution. / ______ संशोधन
सं�वधान म� मौ�लक कत��य� क� एक सचूी जोड़ता है।

1. 42nd / 42वां

2. 39th / 39वां

3. 47th / 47वां
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4. 44th / 44वां

Correct Answer :-

42nd / 42वां

Erosion by solution is termed as: / �वलयन �वारा अपरदन को कहा जाता है:

1. Evorsion / जलजगत�न

2. Cavitation / गु�हकायन

3. Abrasion / अपघष�ण

4. Corrosion / सं�ारण 

Correct Answer :-

Abrasion / अपघष�ण

Ramsar sites are the areas which are to be protected for wetlands. Which one is the first
Ramsar site in India? / रामसर �थल वे �े� ह� िज�ह� आ��भ�ूम के �लए संर��त �कया जाना है। भारत म�
पहला रामसर �थल कौन सा है?

1. Loktak Lake / लोकताक झील

2. Chilka Lake / िच�का झील

3. Vembanad Kol / वे�बनाड कोल

4. Kolleru Lake / कोले� झील

Correct Answer :-

Kolleru Lake / कोले� झील

The curriculum principle that allows necessary changes in its content and methods as per
the changing needs and situations is ______. / ऐसा पा�य�म �स�धांत ______है, जो बदलती
आव�यकताओ ंऔर प�रि�थ�तयो◌ं के अनसुार अपनी �वषय-व�त ुऔर प�ध�तय� म� आव�यक
प�रवत�न लाता है।

1. Principle of integration / एक�करण का िस�ांत

2. Principle of flexibility / लचीलेपन का िस�ांत

3. Principle of motivation / अिभ�ेरण का िस�ांत
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4. Forward looking principle / अ�दिश�ता का िस�ांत

Correct Answer :-

Principle of flexibility / लचीलेपन का िस�ांत

The teacher’s mental and emotional visualization of classroom activities is: / क�ा
ग�तप�ध�तय� के �श�क क� मान�सक और भावना�मक क�पना ______ है।

1. Year plan / वष�य योजना

2. Lesson plan / पाठ योजना

3. Unit plan / इकाई योजना

4. Resource plan / संसाधन योजना

Correct Answer :-

Lesson plan / पाठ योजना

The committee headed by Prof. C.H. Hanumantha Rao (1984) went into the question of
evolving methodology for _________ planning. / �ो. सी.एच. हनमुंत राव के अ�य�ता वाल�
स�म�त (1984) को ______ �नयोजन के �लए प�ध�त �वक�सत करने का म�ुदा स�पा गया।

1. District Level / �जला �तर�य

2. Village Level / �ाम �तर�य

3. State Level / रा�य �तर�य

4. Block Level / �लॉक �तर�य 

Correct Answer :-

District Level / �जला �तर�य

Which Act drastically redrew the boundaries of states and territories in India, organizing
them along linguistic lines. / �कस अ�ध�नयम ने भारत म� रा�य� और �े�� क� सीमाओ ंको काफ�
हद तक कम कर �दया और उ�ह� भाषाई रेखाओ ंके साथ �यवि�थत �कया?

1. States Reorganization Act, 1956  / रा� पुनग�ठन अिधिनयम, 1956

2. States Reordering Act, 1959  / रा� पुनःअनु�मण अिधिनयम, 1959

3. States Reordering Act, 1963  / रा� पुनःअनु�मण अिधिनयम, 1963
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4. States Redrawing Act, 1957  / रा� पुनर�खन अिधिनयम, 1957

Correct Answer :-

States Reorganization Act, 1956  / रा� पुनग�ठन अिधिनयम, 1956

Which among the following is not a criterion for writing Instructional Objective? /
�न�न�ल�खत म� से �या �नद�शा�मक उ�दे�य �लखने के �लए कोई मानदंड नह�ं है?

1. Specification of the learner / िश�ाथ� क� �विश��ता

2. The nature of the school environment / �व�ालय के माहौल क� �कृित

3. The learner performance / िश�ाथ� का �दश�न

4. Adequacy of instructional objectives / िनद�शा�मक उ�े�य� क� पया��ता

Correct Answer :-

The nature of the school environment / �व�ालय के माहौल क� �कृित

Which among the following models of teaching belongs to Social Interaction Family? /
�न�न�ल�खत म� से �श�ण का कौन सा ��तमान सामािजक अतं: ��या प�रवार से संबं�धत है?

1. Inquiry Training Model / पछूताछ �िश�ण�ितमान

2. Non-directive Teaching Model / अिनदेिशत िश�ण �ितमान

3. Advance Organizer Model / अि�म आयोजक �ितमान

4. Partnership Learning Model / साझा अिधगम �ितमान

Correct Answer :-

Partnership Learning Model / साझा अिधगम �ितमान

Which battle was fought between Ahmad Shah Abdali and the Marathas in 1761? / 1761 म�
अहमद शाह अ�दाल� और मराठ� के बीच कौन-सा य�ुध हुआ था?

1. Battle of Tarrain / तराइन का य�ु

2. Battle of Khanwa / खानवा का य�ु

3. Battle of Buxur / ब�सर का य�ु

4. Third Battle of Panipat / पानीपत का ततृीय य�ु
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Correct Answer :-

Third Battle of Panipat / पानीपत का ततृीय य�ु

Which Jaina Saint is credited with introducing Jainism in South India? / द��ण भारत म�
जनै धम� क� श�ुआत करने का �ेय �कस जनै संत को जाता है?

1. None of the above / उपयु�� म� से कोई नह�ं

2. Sthulabhadra / �थलूभ�

3. Indrabhuti / इं�भतूी

4. Bhadrabahu / भ�बाहु

Correct Answer :-

Bhadrabahu / भ�बाहु

Where was the First Jain Council held by Sthulabahu? / �थलूबाहु �वारा �थम जनै प�रषद
कहाँ बलुाई गई थी?

1. Kasi / काशी

2. Vaishali / वशैाली

3. Vallabhi / व�लभी

4. Pataliputra / पाटलीप�ु

Correct Answer :-

Pataliputra / पाटलीप�ु

How can a social science teacher infuse affective outcomes among students? / सामािजक
�व�ान �श�क छा�� म� सकारा�मक प�रणाम� को कैसे �भा�वत कर सकता है?

1. Keeping the students intact through lecture method / �या�यान प�ित के मा�यम से छा�� को
अ�वकल रख कर

2. Adopting collaborative learning inside and outside the class room / क�ा के अदंर और बाहर
साम�ूहक अिधगम को अपनाकर

3. Through story telling method on freedom fighters of social eminence / सामा�जक ��ेता वाले
�वतं�ता सेनािनय� पर कथा वाचन प�ित के मा�यम से
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4. Through the teaching of wars and conflicts through ages / यगु� से य�ु� और संघष� के िश�ण के
मा�यम से

Correct Answer :-

Adopting collaborative learning inside and outside the class room / क�ा के अदंर और बाहर
साम�ूहक अिधगम को अपनाकर

Which Article of the Constitution states that all authorities, civil and judicial, in the territory of
India shall act in aid of the Supreme Court? / सं�वधान के �कस अन�ुछेद म� कहा गया है �क भारत के
रा�य�े� म� सभी �ा�धकरण, नाग�रक और �या�यक, सव��च �यायालय क� सहायता म� काय� कर�गे?

1. 141

2. 134

3. 144

4. 114

Correct Answer :-

144

Which was the political party formed under the leadership of Kanshi Ram? / कांशीराम के नेत�ृव म�
कौन सी राजनी�तक पाट� ग�ठत हुई थी?

1. Communist Party of India / भारतीय क�यिुन�ट पाट�

2. Samajwadi Party / समाजवाद� पाट�

3. Rashtriya Janata Dal / रा�ीय जनता दल

4. Bahujan Samaj Party / बहुजन समाज पाट�

Correct Answer :-

Bahujan Samaj Party / बहुजन समाज पाट�

NABARD stands for _____________. / नाबाड� का पणू� �प ___________ है।

1. National Bank for Agriculture and Rural Development / रा�ीय कृ�ष और �ामीण �वकास ब�क

2. National Bank for Agriculture Reconstruction Development / रा�ीय कृ�ष पनुिन�मा�ण �वकास ब�क

3. National Board of Agronomy and Rural Development / रा�ीय स�य�व�ान  और �ामीण �वकास बोड�

4. National Board of Agriculture and Rural Development / रा�ीय कृ�ष एवं �ामीण �वकास बोड�
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Correct Answer :-

National Bank for Agriculture and Rural Development / रा�ीय कृ�ष और �ामीण �वकास ब�क

__________stated that ‘social sciences carry a responsibility of creating a strong sense of human
values, namely, freedom, trust, mutual respect, and generating in students a critical, moral and mental
energy, making them alert to the social forces that threaten these values’. / __________ म� माना जाता है
�क ‘सामािजक �व�ान मानवीय म�ूय�, अथा�त ्�वतं�ता, �व�वास, आपसी स�मान क� मजबतू भावना पदैा करने
और छा�� को एक मह�वपणू�, न�ैतक और मान�सक ऊजा� पदैा करने क� िज़�मेदार� �नभाता है, जो उ�ह� इन
म�ूय� को खतरे म� डालने वाल� सामािजक शि�तय� के �लए सतक�  करता है।’

1. National Curriculum Framework NCF (2005) / रा�ीय पा�यचया� क� �परेखा एनसीएफ (2005)

2. Commission on School Education / �कूल िश�ा आयोग

3. Education Commission 1964-66 / िश�ा आयोग 1964-66

4. The Curriculum for Ten Year School / दस साल के �कूल के िलए पा�य�म

Correct Answer :-

National Curriculum Framework NCF (2005) / रा�ीय पा�यचया� क� �परेखा एनसीएफ (2005)

_________ is a type of unemployment wherein the workers are searching for new jobs and for a
temporary period they will be unemployed. / _____________ एक �कार क� बेरोजगार� है िजसम� कम�चार�
नई नौक�रय� क� तलाश कर रहे ह� और एक अ�थायी अव�ध के �लए वे बेरोजगार रह�गे।

1. Frictional unemployment / अ�थायी बेरोजगार�

2. Seasonal unemployment / सामियक बेरोजगार�

3. Structural unemployment  / संरचना�क बेरोजगारी

4. Disguised unemployment  / ��� बेरोजगारी

Correct Answer :-

Frictional unemployment / अ�थायी बेरोजगार�

___________ is a process that involves the assembling, storage, transportation, packaging and
distribution of different agricultural commodities across the country. / _________ एक ���या है िजसम� देश
भर म� �व�भ�न कृ�ष व�तओु ंके संयोजन, भंडारण, प�रवहन, पकेैिजंग और �वतरण शा�मल होत ेह�।

1. Agricultural marketing / कृ�ष �वपणन

2. Rural development / �ामीण �वकास

3. Agricultural networking  / कृिष नेटविक� ग
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4. Rural marketing  / �ामीण िवपणन

Correct Answer :-

Agricultural marketing / कृ�ष �वपणन

Who is the present Chief Economic Advisor to the Ministry of Finance Government of India? / भारत
सरकार के �व� मं�ालय के वत�मान म�ुय आ�थ�क सलाहकार कौन ह�?

1. Raghuram Rajan / रघुराम राजन          

2. Kaushik Basu / कौिशक बसु

3. Krishnamurthy Subramanian / कृ�णमिूत� स�ुम�यन

4. Arvind Subramanian / अर�वंद स�ुम�यन

Correct Answer :-

Krishnamurthy Subramanian / कृ�णमिूत� स�ुम�यन

Who is the present Governor of Reserve Bank of India? / भारतीय �रजव� ब�क के वत�मान गवन�र कौन
ह�?

1. Urjit Patel / उ�ज�त पटेल

2. Duvvuri Subbarao / द�ुवरु� स�ुबाराव

3. Raghuram Rajan / रघरुाम राजन

4. Shaktikanta Das / श��कांत दास

Correct Answer :-

Shaktikanta Das / श��कांत दास

Who first adopted Micro teaching techniques? / स�ूम �श�ण तकनीक� को सव��थम �कसने अपनाया?

1. Dwight. W. Allen / �वाइट ड� � य.ू एलेन

2. Dwight Waldo / �वाइट वा�डो

3. Michael Brown / माइकल �ाउन

4. Stanley John / �टेनली जॉन

Correct Answer :-

Dwight. W. Allen / �वाइट ड� � य.ू एलेन



45)  

46)  

47)  

48)  

Who is nicknamed as the ‘Milkman of India’? / 'भारत के द�ुध प�ुष’ का उपनाम �कसे �दया गया है?

1. Swaminathan / �वामीनाथन

2. Sambasivan / स�बािसवान

3. Verghese Kurien / वग�ज कु�रयन

4. Hiralal Chaudhari / ह�रालाल चौधर�

Correct Answer :-

Verghese Kurien / वग�ज कु�रयन

The concept of five year plans in India was adopted from which country? / भारत म� पंचवष�य
योजनाओ ंक� अवधारणा �कस देश से अपनाई गई थी?

1. China / चीन

2. England / इं�ल�ड

3. Soviet Union / सो�वयत संघ

4. USA / संय�ु रा�य अमे�रका

Correct Answer :-

Soviet Union / सो�वयत संघ

AMUL stands for ________. / अमलू (एएमयएूल) का पणू� �प ______ है।

1. Anand Milk Undertaking Limited / आनंद िम�क अडंरटे�कंग िलिमटेड

2. Ahmedabad Milk Union Limited / अहमदाबाद िम�क यिूनयन िलिमटेड

3. Ahmedabad Milk Undertaking Limited / अहमदाबाद िम�क अडंरटे�कंग िलिमटेड

4. Anand Milk Union Limited  / आनंद िम� यूिनयन िलिमटेड

Correct Answer :-

Anand Milk Union Limited  / आनंद िम� यूिनयन िलिमटेड

_______ is an apex Indian governmental body created in 1964 to address governmental
corruption. /  _______ एक सव�� भारतीय सरकारी िनकाय है जो सरकारी ��ाचार का पता लगाने के िलए
1964 म� बनाया गया।  

1. Commission Against Corruption / ��ाचार के �खलाफ आयोग
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2. Central Bureau of Investigation / क� ��य अ�वेषण �यरूो

3. Anti-Corruption Bureau / ��ाचार �वरोधी �यरूो

4. Central Vigilance Commission / क� ��य सतक� ता आयोग

Correct Answer :-

Central Vigilance Commission / क� ��य सतक� ता आयोग

_________ is the highest court for criminal cases in a district.  / एक िजले म� आपरािधक
मामलो ंके िलए सबसे उ� �ायालय _______ है।

1. Court of the Sessions Judge / स� �यायाधीश का �यायालय

2. Court of the District Judge / �जला �यायाधीश का �यायालय

3. Courts of Magistrates of First Class / �थम �णेी के म�ज��ेट का �यायालय

4. Courts of Magistrates of Second Class / ��तीय �णेी के म�ज��ेट का �यायालय

Correct Answer :-

Court of the Sessions Judge / स� �यायाधीश का �यायालय

Which of the following intrinsically motivates a learner to learn?   / िन�िल�खत म� से कौन
अिधगम के िलए एक िश�ाथ� को सहज �प से �े�रत करता है?

1. Lots of homework / अ�यिधक गहृकाय�

2. Rewards / �ो�साहन

3. Easy questions / सरल सवाल

4. Interest in the topic / �वषय म� �िच

Correct Answer :-

Interest in the topic / �वषय म� �िच

Whose birthday is celebrated as ‘International Day of Non-Violence’ by the United
Nations (UN)?  / संयु� रा��  (यूएन) �ारा िकसके ज�िदन को 'अंतरा��� ीय अिहंसा िदवस' के �प म� मनाया जाता
है?

1. Martin Luther King   / मािट�न लूथर िकंग

2. Mahatma Gandhi  / महा�ा गांधी
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3. Jawaharlal Nehru  / जवाहर लाल नेह�

4. Nelson Mandela   / ने�न मंडेला

Correct Answer :-

Mahatma Gandhi  / महा�ा गांधी

The approach of organizing curriculum which is more content centered is known as:   /
पा��म को �व��थत करने का �ि�कोण, जो अिधकांशत: िवषय-व�ु क� ि�त है, उसे ______ कहा जाता है।

1. Concentric approach / संक� ��त ���कोण

2. Topical approach / सामियक ���कोण

3. Unit approach / इकाई ���कोण

4. Spiral approach / स�प�ल ���कोण

Correct Answer :-

Unit approach / इकाई ���कोण

Annie Besant was a member of_______.  / एनी बेस�ट _______ की सद� थी।

1. Ghadar Party  / गदर पाट�

2. Prarthana Samaj  / �ाथ�ना समाज

3. Arya Samaj  / आय� समाज

4. Theosophical Society  / िथयोसोिफकल सोसाइटी

Correct Answer :-

Theosophical Society  / िथयोसोिफकल सोसाइटी

Who plays the main role of Guidance Services in School?  / िव�ालय म� माग�दश�न सेवाओ ंकी
मु� भूिमका कौन िनभाता है?

1. Parent/ माता-�पता

2. Social Studies Teacher / सामा�जक अ�ययन िश�क

3. Principal / �ाचाय�

4. Counselor / परामश�दाता

Correct Answer :-
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Counselor / परामश�दाता

“Roaring forties” are name given to wind in southern hemisphere commonly known as
which of the following wind. / “चीख़त ेचा�लस (रो�रगं फो�ट�स)”  द��णी गोलाध� म� चलने वाल� पवन को �दया
गया नाम है जो �न�न�ल�खत म� से �कस हवा के नाम से जानी जाती है?

1. Westerlies / पछुआ पवन 

2. Trade Wind / �यापा�रक पवन (�ेड �वंड)

3. Easterlies / पवू�य पवन

4. Monsoon Wind / मानसनू पवन

Correct Answer :-

Westerlies / पछुआ पवन 

Sir Thomas Stamford Raffles is known to be a founder of which of the following modern
nations? / सर थॉमस �टैमफोड� रैफ�स को �न�न�ल�खत म� से �कस आध�ुनक रा�� का सं�थापक
माना जाता है?

1. New Zealand / �यजूील�ड

2. Cyprus / साइ�स

3. Vatican City / वे�टकन िसट�

4. Singapore / िसंगापरु

Correct Answer :-

Singapore / िसंगापरु

Cyclones or hurricanes do not develop within about 50 N and S of the equator because? /
च�वात या तफूान, भमू�य रेखा के लगभग 50 N और S के भीतर �वक�सत नह�ं होत ेह� �य��क?

1. Ocean surface temperature is high / सम�ु क� सतह का तापमान अिधक होता है।

2. Trade winds converge / �यापा�रक पवन एक ओर होती ह�।

3. Pressure gradient is weak / दाब �वणता कमजोर होती है।

4. Coriolis force is very weak / कॉ�रऑिलस �भाव बहुत कमजोर होता है।

Correct Answer :-

Coriolis force is very weak / कॉ�रऑिलस �भाव बहुत कमजोर होता है।



58)  

59)  

60)  

Which of the following rivers does not flow into the Arabian Sea? / �न�न�ल�खत म� से कौन
सी नद� अरब सागर म� नह�ं बहती है?

1. Tungabhadra / तुंगभ�ा

2. Narmada / नम�दा

3. Mandovi / मा�डवी

4. Sabarmati / साबरमती

Correct Answer :-

Tungabhadra / तुंगभ�ा

The Vallarpadam Terminal, which is a container trans-shipment facility, launched in
February 2011. It is a part of which among the following ports? / फरवर� 2011 म� शभुार�भ �कया
गया व�लारपदम ट�म�नल, जो कंटेनर पोतांतरण (�ांस-�शपम�ट) स�ुवधा है। यह �न�न�ल�खत पो��स म�
से �कसका एक �ह�सा है?

1. Cochin Port / कोचीन बंदरगाह

2. Visakhapatnam Port / �वशाखाप�नम बंदरगाह

3. None of above / उपयु�� म� से कोई नह�ं

4. Chennai Port / चे�नई बंदरगाह

Correct Answer :-

Cochin Port / कोचीन बंदरगाह

Dendrochronology is the scientific method of dating based on the analysis of patterns of
tree-rings. In a tree from which of the following zones, the analyzing the circles would be most
easy? / व�ृ-वलय (�� �रगं) के पटैन� के �व�लेषण के आधार पर व�ृकालान�ु�मक� ड�ेटगं का व�ैा�नक
तर�का है। �न�न�ल�खत म� से �कस �े� के एक व�ृ म�, वलय� का �व�लेषण करना सबसे आसान
होगा?

1. Temperate Zones / शीतो�ण क�टबंध (टै�परेट ज़ोन)

2. Taiga / टैगा

3. Tropical Rain Forests / ऊ�णक�टबंधीय वषा� वन

4. Polar Tundra / �वुीय टंु�ा



Correct Answer :-

Temperate Zones / शीतो�ण क�टबंध (टै�परेट ज़ोन)


